) @ % g mE & %
1| X 2 | STKR400 075x4512.3 HEMRER
2 | AIR 4 | SOW AwBeBE B EnmE
S| B 6 | SUS M6x 80 7/XAsA BT FYN-
4 | nn- st | A6065S—T5 600x 600 ERER
S5|Iv-L4 Tst| A6063S—T5 594x 594 -

6 | &AL 2 | 7niBERSR 13.0x595x 595 -
/ |1-+-g8 | 4 | SPCCt2.0 o &L
8 | BuAw b SUS M8x 40 70ABT,W,SW -
9 |@uxw b SUS M8x 20 7ABT,NT,W,SW -

10 | BUER SUS M5x 10 Mk 2 -

11| B&N EAAFO- I -
O &S KA
0606 HE00x WE00 H560x W560

1950

2450

150

T

300

T

150

100

400

100

675
300
o) o
00 >
/80
600
©
o
S
© o
N
o
o
Lo
& 0
N
D
o
st
i

100

¥ QEALOLYFERSHAREET 5B AST0ET

90 600

595

-

[P

85

P
7

IE: ¢

) ©

%

3%

WEmE S=1/3

@ E | SOWs (v

& & | SOW-NAS0606

H@EEs | KRSH22058

S




